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8 ANE &5 (22 &d)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=S 2,865,704 3,256,314 /390,610
< 490,000
Al 2,375,704
aaC - Alg e 2,365,704 2,256,314 109,390
< 490,000
Al 1,875,704
A2 AE AME 2HE 1,890,500 1,728,710 161,790
< 490,000
Al 1,400,500
A2REST A AXAMY 501,800 301,080 200,720
401 AIEHI L 20 501,800 301,080 200,720
01 A& HI 500,000 300,000 200,000
OLr2x=T A4 EXAS 500,000
DXAEH =l MZ ARESEZAE &2
2 EXSAM 150,000, 000& * 14 150,000
DAEE Fete] HeEs ARRsEAE &
22 XIS A 150,000, 0003 * 14 150,000
DAIZEH SHCl HOE OtsadsE 22
H XIS A 200,000,000 =14 200,000
03 AlE 2 THHI 1,800 1,080 720
OAIE = HHI 1,800, 000& 14 1,800
ARBLEAE HES A 688,700 777,630 88,930
401 Al HIZ 201 I 688,700 777,630 88,930
01 A& HI 686,000 776,000 290,000
OF%g HiFel gdotd ARIFTAE HES
S A 150,000, 000& 14! 150,000
Osdd tHete| Aataha 2 50 '3
EAHSA 6,000,000 «6IH & 36,000
OSHH =2l e 2 1HL ZHIHSS A
20,000,000 *20H 2~ 40,000
Odgd gEe #E =83 0™ X SA
150,000, 000& 14 150,000
Ot gl &=1el A0 A2 AIE HES
S A 150,000, 000& 14! 150,000
OXots 28 &= A
5,000,000 «6H & 30,000
O=ZEZWUAIE AL EXSA
50,000,000 «2J4 2 100,000
OllsaaE SBotdd AXI3A
5,000,000 *6H 2 30,000
03 A& S THHI 2,700 1,630 1,070
OAIZ 24l 2,700,000 x 14 2,700
ARBETAM WAL 700,000 600, 000 100,000
< 490,000
Al 210,000




SH AED
A MLC - Ax B
TSl ARRATAIY AL BB CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TAIEHI &R 700,000 600,000 100,000
< 490,000
Al 210,000
01 A& HI 700,000 600,000 100,000
OIS AIE HEAY 700,000,000 *14) 700,000
< 490,000
Al 210,000
MWRE =2 3= 475,204 527,604 A 52,400
2REFEANE =ENA 275,204 327,604 A 52,400
201 L4l 141,404 183,804 A 42,400
01 At 22l 5,000 8,000 A 3,000
O1 Let==2H| 5,000
DAALMNEEE A==
5,000,000& x 14! 5,000
02 =24l 136,404 175,804 A 39,400
O1 83322 ¥ HA 12,000
DESANE MRS 1,000,000& »12& 12,000
O3 A& ZHl s Xt 120,000
DARZSEAE =83 S22
600,000 * 10004 2 60,000
DARESZAE 222
600,000 * 10094 2 60,000
O4 Xtg ety 4,404
DUERIL(ESU2REH)
4,404,0002! 1 CH 4,404
206 M= Hl 17,900 17,900 0
01 M2 4l 17,900 17,900 0
Ox2=8 AMSa 23,000 *300= 6,900
OEAXMelANE W8 &9 15,000& 40 600
ORZM=4(1L,2L,4L) 1,000, 000& 14 1,000
O&F=XclAl& OI0I22E2H 6,000& *500H 3,000
OZRHES (OIS A MZS)
8,000& *800kg 6,400
401 Al HI L2 THHI 115,900 125,900 10,000
01 A& HI 115,000 125,000 A 10,000
OXIGH==IHLOIEANE ALZ 22| B A
5,000,000 *100H 2 50,000
OXdt AU ME Xidts FESEIA 294
5,000,000 =34 2 15,000
OARZAEZ ALY AZFLI E WM WA
5,000,000 *100H 2 50,000
03 Al 2 THHI 900 900 0
OAZ = HHI 900, 0003 » 14! 900




2N 2D
M ML - AL 2
Sl WRE +%2 22 ER-ED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
S AN ASALY 200,000 200,000 0
401 Al I 2 O8I 200,000 200,000 0
01 A& Bl 200,000 200,000 0
Ozl AtY 4,000,000 *500H 2 200,000
HeeEgs(=x) 500,000 1,000,000 A 500,000
Hel X & 500,000 1,000,000 A 500,000
=AY ES3H HEZ 500,000 1,000,000 A 500,000
701 JIEtl HSHES 500,000 1,000,000 A 500,000
03 BIILELEINHMENES 500,000 1,000,000 A500,000
OXga=E (32
500,000, 000& *1 500,000




